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Solution and Marking Scheme

Q.1 | a) Table : 3 + Ans:1 (4]
Cost of Machine 100000/ 1 10000 10002 | 90000 90000
| Scrap Value | 20000 | 2 20000 30000 110000 55000
3 30000 60000 140000 46667
4 40000 100000 180000 45000
5 50000 150000 230000 46000
6 60000 210000 290000 48333
b) EOQ: 2;CI:2; TC= 2 (6]
D=1000 per year
Cp=25000 per unit
Co=5000
CI=1000
2DC,
E0Q =Q, = =100
Cy
C[ - ‘IZDCOCH =100000
Total optimum cost = 25000*1000+100000 = 25100000
OR
b) EOQ: 4; Tmfg: 2 (6]
D=30 per day
P = 50 per day
Cp:.
Co=100000
Ch=5000 per year = 13.7 per day
20C,
E0Q = Q,
Cu “ 1 P i
N = 1046
Q
Tmfg = _Pg =21 Days o
=
Q.2 |a)Rho=2;P=2 (4]




b) Derivation: 4; Ans: 2 [6]

b) Seq: 2; Table: 2; Ans: 2 ' (6]

2



Joh Sequence Chart

Sequence| | Il [ v v Vi
Plant J6 J4 J1 J2 J5 J3
M/C A M/CB
JobNo. | In Out | Idle In Out | ldle Ay
J6 0 12 0 12 35 12
J4 12 26 0 35 53 0
J1 26 42 0 53 70 0
J2 42 62 0 70 96 0
J5 62 89 0 96 | 120 0
J3 89 | 114 | 27 | 120 | 141 0
Total 27 12
Q.3 | a) Correctness: 2; Rules followed: 1; Naming numbering, arrows: 1 (4]
b) Network diagram: 2 Critical path:2 Time calculations: 2 (6]
iET‘fi?:_m ) st kel :
9 Start
10 A 9 2 2 2
1 B 9 8 8 8
12 C 10 8 8 8
13 D 1 9 9 9
14 E 12 13 12 12 12
15 F 12 13 4 4 4
16 G 14 6 6 6
17 _H 15 5 5 5
. OR
b) Te and Var: 2; CP: 2; Probability: 2 (6]
Activit Ao fime Tine Stme Variance
y (Optimistic) | (Most likely) | (Pessimistic) (Expected)
1-2 6 9 12 9 1
2-3 14 : B g 20 17 2§
2-4 7 10 13 10 1
2-5 12 15 18 15 1
3-5 2 5 14 6 &
4-5 3 6 15 7 =+
5-6 1 10 19 10 9
18 34.00
STD. DEV. 3.87
TCP 42.00 =2 4
z -2.07 o
Value from Z table 0.4808 3

% Probability

Bl




